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02 =224l 983,290 983,290 0
OEMAIIRS 39,100,000& x12& 469,200
OFANGIERS 7,000,000& x12& 84,000
OFAMNNLARZ 15,000,000& =128 180,000
OFEA XY 250,000, 000& 250,000
OAetdE 3l 90,000& x13] 90
308 XX EHH SOl A 375,704 308,949 66,755
11 3J2SoHUHSI S HAE ALS I 375,704 308,949 66,755
Ot &R AL 375,704,000& 375,704
403 MHtXSHHSA=0l& 7,500 3,710 3,790
02 B 2SOICHsH U2 X 2 AN I 7,500 3,710 3,790
O3t AHER AEASHI 7,500,000& 7,500
FHAAIEE E & FH| 100,000 45,000 55,000
401 Al BIZ 2018 100,000 45,000 55,000
01 A& HI 100,000 45,000 55,000
OFEA SEHEAY 100,000
o BA AR EZH 100,000, 000& 100,000
SEA &F =4 10,108,440 4,407,540 5,700,900
AN HE 1,440 540 900
201 LBH2EH| 900 0 900
01 At 22l 900 0 900
OFQ&HE U AZARY HEAY|
1,000,000& *0.9 900
203 PR =&l 540 540 0
03 Al =X A2 =X 540 540 0
OFAAE2HE g2=2 600,000& x0.9 540
S&hs FUHEH =SSN HE 5,000,000 0 5,000,000
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401 Al HIZ 201 Y| 5,000,000 0 5,000,000
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O&&53 FRUHH SEEA AE
4,080,000,000& 4,080,000
02 Zeltl 910,000 0 910,000
O&E58 FULMH SSEA 2HE
910,000, 000& 910,000
03 Al 2 THHI 10,000 0 10,000
O&E55 FUHEH SFHA A
10,000, 000& 10,000
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1,000, 000& 1,000
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201 Let24d]| 11,639 11,933 A 294
01 At 2teltl 11,639 11,933 A 294
OMSTHHUZ =X CHEEAHl  10,659,000& 10,659
OZTZAMSY LYILY G
980,000& 980
203 YR =&l 270 270 0
03 A F=XH R =AH| 270 270 0
Ozdeotdatd AI#HYSZ=ZHl 300,000&«0.9 270
HHE2HZHI (23 H D) 90,713 97,151 A6,438
ol AHI (TSR3 AL 47,257 44,213 3,044
OlA2HH NEA (MRS H D) 47,257 44,213 3,044
101 @14 Hl 46,297 44,213 2,084
03 B2 (RIHY)2Z2NE S 46,297 44,213 2,084
oJle=s 2,489,520 x1H «12& 29,875
Oz Al 140,000& =128 1,680
Ois=¢ 80,000& x12& 960
Oozuz2+¢ 12,5813 %1.5+30A1 2+ x 123 6,794
OZFEF Il 2,489,520% *0.6*23| 2,988
o82=+¢ 2,489,520 x0.5%23] 2,490
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A MBS A
Ha: HM22HAH|(JHES H D)
S olHASAY| (M3 AH D) )
- _ _ RE]
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XA 2 & 755,113 764,897 N9,784
= 34,332
3 720,781
XA dx8s X 79,042 72,041 7,001
201 et 22,928 19,258 3,670
01 AP 2t 2] H| 22,928 19,258 3,670
Ogtf2Y| 19,848
odIDME HIOIH HE(FSEAM)
5,500 *750 4 4,125
o KBtAHl EE2S(ZAH)MZE
1,280& x45001 *43] 0.9 2,074
o KNIZAl E22(CtH2)H =
67.5& *4 00001 53] 0.9 1,215
o NIZA E22S(84%)H =
43,0002 1000 631 *0.9 2,322
o KNS AISEHorLY 2 XF HI &
7,200& 7008 %0.9 4,536
o XN REUSE SEHH
264,000 *34F XF*0.9 713
o HM2IE XYN LR syl
2,250,000 2,250
o NEAMARS &8 =2 80&*25,000241+0.9 1,800
o NIZFNERE SSHE 721,600& 722
0 ESINARE R 18,200 x5S 91
ogds4 3,080
o NEAMASRRAS £=E 70,000& 118 43| 3,080
203 R F & 1,710 1,710 0
03 AIZH =X 2= X H| 1,710 1,710 0
OXNEMA 22 1,710,000 1,710
204 2R 4= 2AH| 30,000 27,600 2,400
03 SEHYRAH| 30,000 27,600 2,400
ON=Rx+% 100,000& 252 x12& 30,000
301 LBt A= 3,000 3,000 0
12 JIEtE2 &= 3,000 3,000 0
OS&AEMA ZHAFIH Al & 150,000 »20H 3,000
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01 &2 19,104 18,623 481
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Ost=XLMATRH =EH= 19,104,000& 19,104
405 TtHabF S| 2,300 1,850 450
02 = A=l 2,300 1,850 450
OXNgAM2eA A2 2,300
o NZAYEH 50,0003 =22 1,100
o Al ZAARoA 100,000& =12 1,200
ANLA 20 - & 2te] 475,103 458,996 16,107
201 Let24d] 471,204 455,996 15,208
01 AP 2teltl 57,013 58,515 A 1,502
OgEer==EH| 57,013
o RIZAl2ed Aalola 1,500,000& *0.9 1,350
0 OCRLL K| A Q1 A4 25,999
SEAEZDXA 99,000 » 1904 Xt 18,810
SEHEDRXA 72,6003 4244 It 3,050
- AMIXIA 72,6003 5748 Xt 4,139
o UM ARE 483 +618,000A 29,664
02 =24l 414,191 397,481 16,710
O1DXN R2BES 23 414,023,000 414,023
Oa3s=2 AL SRS 168,000& 168
301 LerEAF 3,000 3,000 0
12JIE243 3,000 3,000 0
OgzeuUma ADZAZ(BIZ)
3,000,000& 3,000
405 TtakF S| 899 0 899
01 AL EFH S 899 0 899
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o0 SALEX 22,0003 x58t A %0.9 99
o ctEXl 25,0002 * 10 25
= 25
o HWE=E JIASXE UM
1753 3,600 0.9 567
o RAE EZE Hteld MEH
8,800& *9001+0.9 713
o FTEHIZ AL AR EZ3HI 40,0003 x12&+0.9 432
o=zg=¢ 1,120
o RSMINAZSANRAAS =&
70,0003 x8H +23| 1,120




M N1

B NFEHE =5

ol KIYAl 2 F CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

02 3322l 1,548 1,368 180
OSN=ELs RERS 430% *3,600AH 1,548

HE2IZH (MR11) 48,100 44,589 3,511

Jl2ZH (M=11) 48,100 44,589 3,511

Jl2ddl M A (M1 48,100 44,589 3,511

201 L2l 27,700 25,485 2,215

01 At 2t 2l 27,700 25,485 2,215
Oger==gH| 54,5003 x25H x12& 0.9 14,740
O= &l 8,000 *25H «6AIx12& +0.9 12,960

202 Odl 16,200 14,904 1,296

01 S LHAYI 16,200 14,904 1,296
O=Z& 0l 10,0003 x25H x6 2 x 123 0.9 16,200

203 R =&l 4,200 4,200 0

04 NI 4,200 4,200 0
ORAN2EIRFEHI 350,000& 122 4,200




AN N2

RN =IOV RS

N & O &

g Al

A

Sl KA 2D - Z (29l & 2)
SN HH-S(BN) - MBAY - B il HlnE2
N S22t 641,384 673,395 A 32,011
ANLEHE &= 549,748 609,789 A 60,041
XA 2 3= 448,042 432,478 15,564
NEN d-2s X2 45,766 43,050 2,716
201 L2l 11,256 10,940 316
01 At 22l 11,256 10,940 316
Ogt=&H| 11,256
o ANHFSAH AIOAN B22 el M
5,500& *290& +0.9 1,436
o NgA €2 822 M 7,594
ot =2 M&H 67.5& *5,00000 *53| 0.9 1,519
ZIAH HMEH 350& *1,4000H *53|*0.9 2,205
S0 W 43,000 *20J4 *53] *0.9 3,870
o XM ¢€&8 =5 M
264,000 644 Xt*0.9 1,426
o =BIIE RA22H 800,000& 800
203 PR =&l 1,710 1,710 0
03 Al =X A2 =& 1,710 1,710 0
OXNgMNE g2=2 1,900,000& *0.9 1,710
204 HR=HAH| 31,200 28,800 2,400
03 EZYFFHI 31,200 28,800 2,400
ONEREEsR& 100,000& »26H «12& 31,200
405 THobH S| 1,600 1,600 0
02 =M=l 1,600 1,600 0
OXNgH22HEEN T 1,600
o NIZAARHA 100, 000& 6 600
o Al Mg Eet 50,000& 20 & 1,000
XA 2 - = 22 310,254 296,480 13,774
201 £B-2d| 310,254 296,480 13,774
01 At 22l 50,254 51,480 N1,226
Oger==EH| 50,254
o Al ZAl 2+t MAIY 1,200,000 1,200
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SENZ DA 99,000& =874t Xt 8,613
SEHEDRXAM 72,6003 x 147 &+ Xt 10,673
A4 Xl M 72,6002 924k Xt 6,680
o XA s8Ud == 483 +481,000A 23,088
02 3322l 260,000 245,000 15,000
OEBLERS 260,000,000 260,000
NLA MgH 2=2tg] 49,834 63,255 A 13,421
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201 fEt2E | 32,650 38,979 A6,329
01 At 2t 2l bl 11,710 9,239 2,471
Oget+ZHl 9,550
oMgxe A2 ==3 5,000,000& 5,000
oz & HEMA AXNYR =42
3,000& *50021%0.9 1,350
o HSHIEX 24H 2= MH 2,053
St E M= 67.52%10,00004+0.9 608
ZAH MAH 3503 *9000H 0.9 284
=R N 43,0003 *15J0 A +23] 0.9 1,161
o MSEIX 2 FH(AZ2E)7Y
300,000& 0.9 270
o HSEEX (22 £EE 0CR2AIA Q1
72,6003 x52 X++0.9 327
o HISEEX FUHE ZeH EX
550,000& »1&f Xt 550
OdlsHdIgs st
8,000 »25F x 141 x12& 0.9 2,160
02 s5=9Hl 20,940 29,740 A8,800
Ot T ZHeIAIAE 24 15,180
0 dBFE NHIA 0I8Z 3,960,000& 3,960
o dXF ZelAIAE 082 7,920,000& 7,920
o MIEE NEOOIE ¥5Z2
2,200,000& 2,200
o dYF NHA OIEZ 2,200& #5002 1,100
OSEEXNANALYE ANEE SHes
(60,0002 *3CH+40, 000 *2CH ) *1 3,120
OSEEXNANLYE 2TEON FXNE=H
220,000& »12& 2,640
202 o4 Hl 5,184 7,776 A2,592
01 SO HI 5,184 7,776 N2,592
OXME &bl 10,0002 «8H x62 *12E +0.9 5,184
303 Za =3 12,000 12,000 0
01 24= 12,000 12,000 0
OMgd+=2Za3 12,000,000& 12,000
HAXSASAH ADME 29 42,188 29,693 12,495
201 fEt2E | 30,000 14,680 15,320
01 At 2t 2l bl 10,250 9,180 1,070
Oget=ZH| 10,250
o MAXSASH AMESHUHE HE
190& 30, 00004 5,700
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OZNBRY SHRS 5,500,000& 5,500
OAMEBOHHZ £E5R= 14,250
o 2HtY E€E2S 100& *30,000AH 3,000
o RERI 4503 +25,000A 11,250
301 LeBAF 12,188 0 12,188
12 JIEtE &= 12,188 0 12,188
Olferd a&as XA 1,741,120@ +7H 12,188
Nel+=2 S22l 101,706 177,311 AT5,605
Nel+=g X& 101,706 177,311 AT5,605
201 L-2EH| 60,332 58,525 1,807
01 At 22/l 28,792 26,985 1,807
Oget=gHl 25,372
0 OCRLL K| A Q1 A4 72,6003 x104 Xt 726
o M= B3 MI M
15,000& *1005+0.9 1,350
o M2+ BEg 49 M
70,0003 *2J1+0.9 126
oM+ GEA WE S+ WH
70,0003 *x1JK+0.9 63
o Hag MBIIC yRLLR
1,700,000& 1228 20,400
o M= ARS ERE===2 100,000& 100
0O RSN UF L HH BH4a2
2,000& x50A 100
o M XM el 72,6003 204 XtH+0.9 1,307
o MEIDXAM S8 =2
483 5,000 53] 1,200
ozg=+¢ 3,420
o JIRMANRRESE =Y 70,0003 x9&H #4353 2,520
0 P2 NH YRS +g
100,000 x9H 13| 900
02 2324l 31,540 31,540 0
OLDXAN & U2 &€& RERS
19,000, 000& 19,000
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o MEBEE MHA 0IEZ 1,320,000& 1,320
o dAAF elAAE 0l282  7,920,000& 7,920
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A BN AD
M ABIHMHA HB
Sl JIEH U FUSE 29 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| | = 240
HAUAHMEX 2 43,920 54,242 A 10,322
= 37,373
- 6,547
OAANS E#ZH (AL Es & 2el) 43,920 54,242 210,322
= 37,373
- 6,547
101 1A dl 36,594 49,422 AN 12,828
= 30,967
- 5,627
03 BRI (RINHY)2=NHES 36,594 49,422 AN 12,828
OUAYERXA (25 2) 36,594
oJdlzg 1,851,870& 128 22,223
= 22,223
o ANzZtel==¢ 9,769& *1.5+20A1 2t 128 3,517
= 2,107
T 1,410
o =4l 140,000& 122 1,680
= 1,680
o QlRg 50,000& x12& 600
= 600
o BEFOtHI 2,222,240& 2,223
= 2,223
o X4 9,769 x8AI 2t+10L 782
= 508
= 274
o d2=¢ 185, 180& 186
=2 186
o ItExY 120,000& 123 1,440
= 1,440
o EIASHEES 77,3102 %30 x1.74 3,943
201 L2l 4,414 4,520 A 106
= 3,494
T 920
01 At 22l 3,494 3,500 AB
Ol AIRES 72 3,494,000 3,494
= 3,494
02 3322l 920 1,020 A 100
ONZEE SR ESEEE 200,000& 200
OJtEZ ML Y 3=
30,0003 *23| & +12& 720
203 R F=&H| 300 300 0
= 300
03 A BFAH S Z=AY| 300 300 0
O 2 R FAH| 300,000& 300
= 300
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